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Q1-16 ENGLISH LANGUAGE
FILL IN THE BLANKS WITH THE RIGHT WORD  Rerd TTHT Pl Hal e I Wi

1. He has been living in this city  2010.

A) since B) for

C) by D) from

2. The train will arrive  5:30 PM.

A) on B) at

C) in D) by

3. She was tired,  she went to bed early.

A) so B) but

C) and D) or

4. Please speak

A) quiet B) more quietly
C) most quiet D) more quiet

5. They  playing football when it started to rain.

A) were B) was
C) are D) is

6. I prefertea  coffee.

A) to B) over
C) with D) for

7. We visited the museum ___ our trip to the city.

A) at B) during
C) while D) from
8. he tried his best, he couldn't win the race.

A) Because B) Although
C) Since D) If
9.1have  finished my homework.

A) already B) yet

C) soon D) still

10. There are five apples  the table.
A) on B) at



C)in D) over

11. Identify the misspelled word: TeTd g1 dTel 26 bl UgdT

A) Accomodation B) Restaurant
C) Beautiful D) Necessary
12. Which word is spelled incorrectly? P T 2l Ted foter 7ar 2
A) Occurrence B) Separate
C) Calender D) Surprise
13. What is the synonym (A1 ¢/&2) for "bustling"?

A) Serene B) Lively

C) Tranquil D) Deserted
14. What is the antonym (fae® )for "ancient"?

A) Modern B) Historic
C) Aged D) Timeless
15. What is the synonym (FAT12ff 2reg) for "venerable"?

A) Youthful B) Respected
C) Fragile D) Ephemeral
16. What is the antonym (faei™ )for "keen"?

A) Dull B) Eager

C) Sharp D) Intense

017-25: find out the correct Hindi translation of the given sentences/words
W2 17-25: 13T v ared)/2reg) 1 WEl &< 31dre Ad B!

17. "He 1s playing football"

A) IE Pedld Wd el o B) g Al Y&l &

C) g MET &l D) g YIS P Y&l 2|
18. "She 1s a teacher"

A) 98 U S & B) d€ U BT &

C) I8 U 3rATURT B D) g8 U faerrs! 8

19. "T am reading a book" ‘
A) H Ue fobdTe g e &l B) # &b T A Y& &
C) # v febare fora wT §| D) ¥ e wEr AT ETE|




20. "They are going to school"

A) B ST IR B B) d WeT 3R &

C) I @FTFTR B D)dHITE &

21. "The sun is shining brightly"

A) IS TH B B) ST IHP TET 5
C) T g T & D) 31 38 e |
22. What is the Hindi translation of the word "Ephemeral"?

A) ermead B) &iftich

C) Hecdquf D) Tt
23.What is the Hindi translation of the word "Benevolent"?

A) PR B) &dT]

C) wmeff D) 3R
24.What is the Hindi translation of the word "Enigma"?

A) FHTYTE B) e

C) deg D) el
25.What is the Hindi translation of the word "Quintessential"?
A)T® B) qeTd

C) 3rgefad INEIE

Q26-35: find out the correct English translation of the given sentences/word.

W2 26-35: 13 Q arel/2eg 1 Wl 3T A Fd Hifegl

26. "9g U Gt TET 2"
A) He is drinking milk. B) He is eating food.
C) He is drinking water. D) He is swimming.

27. "I IR ST 2"

A) They are going to the park. B) They are going to the market.
C) They are going to the office. D) They are playing in the market.

28. "gg febdTe Igd 381 8

A) This pen is very good. B) This book is very good.
C) That book is very expensive. D) This is a very big house.



29, "H ST TT IET §"

A) I am drinking water. B) I am cooking food.

C) I am eating food. D) I am buying groceries.
30. "EH A ST ®W &

A) We are reading a book. B) We are watching a movie.

C) We are listening to music. D) We are cooking dinner.

31. What is the English translation of the Hindi word "fd&qor"?

A) Transformation B) Defacement

C) Beautification D) Harmony

32.What is the English translation of the Hindi word "37d€Te"?

A) Realization B) Confusion
C) Ignorance D) Reflection

33.What is the English translation of the Hindi word "fd=a"?

A) Fear B) Wonder
C) Anger D) Sorrow

34.What is the English translation of the Hindi word "g&ied"?

A) Abundant B) Insufficient
C) Enough D) Scarce

35.What is the English translation of the Hindi word "3TeTIIT"?
A) Criticism B) Praise
C) Apology D) Explanation

MATHEMATICS AND REASONING

36. What is the sum of 456 and 789?

A) 1145 B) 1245
C) 1345 D) 1456
36. 456 3R 789 BT AT oRIT 82

A) 1145 B) 1245
C) 1345 D) 1456

37. If the ratio of boys to girls in a class is 3:4, how many boys are there if the
total number of students is 56?

A) 21 B) 24

C) 32 D) 42



37. afe fodl e W cigds 3R csfehal & 31guTd 3:4 8, IS P fdanfeay &
AT 56 & Y fdse b &2

A) 21 B) 24
C)32 D) 42
38. Which of the following is a multiple of 12?

A) 56 B) 64
C) 88 D) 96

38 fAAfcIfEd # F P 7 12 &7 0T 82

A) 56 B) 64

C) 88 D) 96

39. After a 10% discount, a watch costs $180. What was the original price?
A) $190 B) $200

C) $210 D) $220

39. 10% BT & §1G Ueh T! I bIHd $180 B TS| HeT pIA T T2

A) $190 B) $200

C) $210 D) $220

40. If two angles of a triangle are 50° and 60°, what is the third angle?
A) 70° B) 80°

C) 90° D) 100°

40. Ie; fepdt ST & T BIUT 50° 3R 60° &, T AR PIvT AT 82

A) 70° B) 80°

C) 90° D) 100°

41. What is the square of 15?

A) 125 B) 225

C) 275 D) 300

41. 15 BT 7 T 22

A) 125 B) 225

C) 275 D) 300

42.The perimeter of a square is 40 cm. What is the length of one side?
A)5cm B) 10 cm
C)15cm D) 20 cm

42T 1l T URHATT 40 JHT 21 T HSIT bl WidTs T 82
A)5cm B) 10 cm



C)15cm D) 20 cm

43. What is the cube of 3?

A)6 B)9

C) 27 D) 18

43. 3 1 T T §?

A)6 B)9

C) 27 D) 18

44. Which word does not belong to the group?

A) Apple B) Banana
C) Mango D) Carrot

44, DI T 2[e8 S8 FHg Y Heiftid &l §?
INEE] B) &l
C) 3 D) TSR

45.Find the missing number: 2, 4, 8, 16, ?
A)20 B) 24
C)32 D) 40

45. Jd AT ATd M- 2, 4, 8, 16, ?
A) 20 B) 24
C) 32 D) 40

46. If all roses are flowers, and some flowers fade quickly, which of the
following must be true?

A) Some roses fade quickly.

B) All flowers fade quickly.

C) No flowers fade quickly.

D) Some roses do not fade quickly.

46. IS U TTeTTd oA &, 3N B Bl STl GIAT SITd &, dl (0 § 9 DI A1 J
EELELEY

A) $B g STod] G ST 8

B) AT BooT STeil HRET SITd &

C) PIg 1t oo STe<] HYEATAT el 2

D) $8 TcITd STed! JelTd Tel 2|

47. Find the odd one out: 1, 4, 9, 16, 25, 40



A) 1 B)9

C) 25 D) 40

47. 30 J fdvm B @ 1, 4, 9, 16, 25, 40

A)l B)9

C) 25 D) 40

48. Hand 1s to Glove as Foot is to:

A) Sock B) Shoe
C) Slipper D) Sandal
48. gTe S&I J Fafgd g, SR R A

A) FST B) <dT
C) Iue D) dgd
49.Tree 1s to Forest as Book is to:

A) Library B) Paper
C) Shelf D) Reading
49. Us STl 9 FEfHd &, o Tt 3

A) TP B) BT
C) Aeh D) UeT

Consider a set of exam scores from a class of 30 students.
55, 55, 60, 60, 65, 65, 70, 70, 75, 75, 78, 80, 80, 82, 85, 85, 86, 90, 90, 90, 92,
92, 94, 94, 95, 96, 98, 98, 100, 100

50.What is the median of the exam scores?

A) 85 B) 88
C) 90 D) 92
50. TRIEHT &5 3{pl T HTEY oR-T 82

A) 85 B) 88
C) 90 D) 92
51.What is the range of the exam scores?

A) 45 B) 50
C) 55 D) 60
51. TRI&M o 37chi bl HIHT T 82

A) 45 B) 50

C) 55 D) 60



52. What is the mode of the exam scores?
A) 70 B) 75
C) 80 D) 90

52. WRI&M o 3ichi &bl TgeTeh T 872

A) 70 B) 75

C) 80 D) 90

53. A cylinder has a height of 10 cm and a base radius of 7 cm. If the lateral
(curved) surface area of the cylinder is to be painted, what is the area that needs
to be painted? (Take w = 22/7)

A) 440 sq. cm B) 220 sq. cm

C) 154 sq. cm D) 308 sq. cm

53. b 91 bl HdTs 10 FHT & 3R 3R 351 7 91 21 IS S & ured (ash)
3G &3 I IMET &, a1 I & T g fbdar & Arfeq? (= 22/7 o)
A) 440 7 JHT B) 220 7 Tt
C) 154 T JHT D) 308 a7f IHY

54.The circumference of a circular field is 176 meters. A man walks along the
boundary at a speed of 8 meters per minute. How much time (in minutes) will it
take to walk around the field 3 times?

A) 22 minutes B) 66 minutes

C) 44 minutes D) 33 minutes

54. U JAThR HeH DI IRIY 176 HIeX 81 U 37TGHT § Hiex Ufd e &I mfa 1
T 6 H1 TAdT &1 HEH b TRI R 3 IR Te H 39 b1 9w (e W)
oTT?

A) 22 fie B) 66 fAFe

C) 44 fAme D) 33 fAe

55. Two and a half hours is equivalent to

A) 250 minutes B) 160 minutes
C) 120 minutes D) 150 minutes

55. 318 T SRR &
A) 250 fAee B) 160 fA-e
C) 120 fAe D) 150 fie

MISCELLANEOUS




56.Which is the largest state in India by area?
A) Maharashtra B) Madhya Pradesh
C) Rajasthan D) Uttar Pradesh

56.89%h o1 & 20T T WRd BT e 87 I b AT 272

A) AgRTY B) &I Tl

C) IR D) 3R Wl

57. Which is the southernmost point of India?

A) Indira Point B) Kanyakumari
C) Rameswaram D) Minicoy

57. IR &I H afefuil fag i 182

INEICSIES B) BATHHRT
C) IHQRH D) fafA®ra

58. The Jallianwala Bagh massacre occurred in which year?

A) 1919 B) 1920

C) 1930 D) 1942

58. STfcidTdTel ST g b aef g31T 2&m?

A) 1919 B) 1920

C) 1930 D) 1942

59. The famous Sun Temple is located in which Indian state?

A) Odisha B) West Bengal
C) Gujarat D) Kerala

59. Ui g Al b YR 3o H 2id &2

A) 3nfserm B) Ufosd &1t
C) ToRId D) &l

60. Who was the first woman Prime Minister of India?

A) Indira Gandhi B) Sarojini Naidu
C) Pratibha Patil D) Sushma Swaraj

60. MIRd &I Ugdil Higdll WUTHHAT BT 2012
A) SfeRT I B) WIS A1
C) wfauT atfea D) AT TRTST



61. Where 1s the famous Gol Gumbaz located?
A) Mysore B) Bijapur
C) Hyderabad D) Lucknow

61. 31 Rg et TrIoT el fed 87

A) B B) dIeiTgR

C) BTG D) eT&d3

62. Which acid is found in lemon?

A) Hydrochloric acid B) Citric acid
C) Sulfuric acid D) Nitric acid

62. I H DI T 377 YTIT SATAT 82

A) BTSSITAIRD 370 B) ITsfedh 37T

C) R 3TFe D) Tsfee 37T
63.Which of the following is a common salt?

A)Calcium sulfate B) Sodium chloride
C)Potassium nitrate D) Magnesium carbonate

63.f7 o I BT IT T THP 82

A)BIRITH Tethe B)HISdH FIRISS
C)Ureferay A1gee DA BrEfe
64.The property of metals to be drawn into thin wires is known as:
A) Malleability B) Ductility
C) Conductivity D) Brittleness
64. HTg31l & Udel dRI H Wid ST P 0T bl $H YebR STHT SITdT &:
INE I CIGEERIEI B) a=adT
C) TTeTehdl D) ¥IRdT
65.What is the unit of electric current?
A) Volt B) Watt
C) Ampere D) Ohm
65 fE[d URT T ghTE T 82

A) dice B) @1

C) THIRR INEILS



66. Who 1s the current Finance Minister of India?

A) Piyush Goyal B) Nirmala Sitharaman
C) Amit Shah D) Smriti Irani

66. IRd &b IdHT fad H#AT P 82

A) TN T B) fwar Harwor

C) 37Hd g D) Hfd g1

67.Who is the Vice President of India?

A) Venkaiah Naidu B) Jagdeep Dhankhar
C) Ram Nath Kovind D) Arif Mohammad Khan
67 MRd & IRTEUT DI 82

A) ddIT A1 B) ST Y-8

C) IMH 1Y pifde D) 3R HIgHE W

68.Who is the AGM of Northern Railways?

A) Pankaj Kumar Singh B) Sanjay Goyal
C) Ashwini Vaishnaw D) A K Singhal
68.3TR ¥eTd b AGM BIF 52

A) UdbsT PAR fHE B) Ho/d Mael

C) 37fedt dwrg D) U & fGad
69.Which of the following is not a division of Northern Railways?
A) Lucknow B) Delhi

C) Jammu D)Moradabad

69 A4 ® ¥ B 3T Ied BT fEdis T8 22

A) TET3H B) feeett
C) 59, D) HR1aTeTs
70.How many divisions are there in Northern Railways?

A)7 B) 4

C)6 D)5

703 Y99 A fdoa e €2
A)7 B) 4
C) 6 D)5



71.Which is not related to the medical department in Indian Railways

A) UMID B) CTSE
C) RELHS D) ARPAN
71 MR ¥era § fefdser fopmr & i deferd 7€) 8

A) UMID B) CTSE
C) RELHS D) ARPAN
72.Grade pay 2000 is equivalent to ........... of 7th CPC

A) level 6 B) level 2
C) level 4 D) None
7208 U 2000, 7d CPC ........... P RN &

A) WId 6 B) ®idal 2
C) ™act 4 D) ®IE &l
73.What does M in HRMS stands for

A) Management B) Monitor

C) Module D) None

73 . HRMS H M &1 HIT Hddld &

INLESL B) HifAex

C) Higge D) &g TEl
74.Which of the following is not a working module of HRMS
A) E-courts B) RTI

C) E-nirikshan D) All of the above
7477 9 9 B HRMS &1 afsTT ATeyd 181 2

INEE I B) RTI

C) s-fAdtaror D) 3T I+t
75. A in APAR stands for

A) Assessment B) audit

C) Accounted D) none of the above

75. APAR H A &1 Hdold &
A) 3RTHS B) 3ifge
C) 3PB13S D) 3Wiad § I BIS el



76. Who is the first railway minister of independent India?

A)Krishna Menon B) John Mathai

C) Yashwant Rao Chavan D) Lal Bahadur Shastri
76. T YR b Tgel 3o H3il DI 82

A)BSOT Hq B)SIi HaATE

C)JLdd Id TIETU] D)cATeT S8TgY 2T
77.Which of the following is not a duty pass given to a railway officer
A) Silver pass B) Bronze pass

C) Platinum pass D) Gold pass

7777 § I P A1 YoTd 37TIBRY BT &A1 ST aTetT St Ut T8l &
AR u™g B)®IR U

C)wi e urg D)Ties uTg

78. what does SLP in court language means

A) Secondary leave Petition B) Supplementary Leave Petition
C) Special Leave Petition D) Sundry Leave Petition

78. <ITATAT T MTHT H THUAYT BT T 37ef &

A)fGdIaed 3TdepTel ATfieh] B)YXh 3TahIRI ATfTIeh]
C)faQy 3raesrer grfad] D)fafdy raaerer arfad

79. Which of the following document of an employee can be shown to him/her?

A. Pay Slip B. APAR

C. Seniority List D. All of the above

79. AT ® | P 1 S&dTdsT bl HeRT e fEma ST FebdT 82
AN &Y B.APAR

C.aRssdr gz D 3uerd Tt

80.Which of the standard form is required to be used for issuing the order of
deemed suspension?

A. SF-1 B. SF-3

C. SF-2 D. SF-4

80. 1T fAeTE 3712l STRY &3 & T g A YU T YA BT AT h
22

A. SF-1 B. SF-3

C. SF-2 D. SF-4



81. Where is HQ of North Central Railway?

A. Allahabad B. Jhansi

C. Agra . D. None

I 7 YTd BT AT Bal 82

A. SATEETE B. gt

C. 3T D. BT T8l

82. N in PNM stands for’

A. Negotiation B. Norm

C. Null D. None of the above

83. Where is the Indian Railways Institute of Electrical Engineering situated?

A.Nasik B. Vadodra

C. Jamalpur ~ D.Pune

83. MR YeTd fdgd SotfAaiRm S Pel f€d 82

A. TRE®H B. @8Il

C. STHTAYR D. g1

84. P in EPFO stands for

A.Pension B. Provident

C. Public D.Private

84. EPFO # P &1 Hdo1d @

AYMA B. Hifdse

C. ufecich D.JTgde

85. Who is the author of “ My experiments with Truth” ?

A. Mahatma Gandhi B. Bhagat Singh

C.Dadabhai Nairoji D. M.A. Jinnah

85. “HTS TRTURHEH fd< gor & ol B &7

A. HETHT TITeY B. vTd 9.

C. TTeMTS RIS D. TA.Y. fo=

86. The title ‘Punjab Kesari’ was conferred on
A. Ranjit Singh B Bhagat Singh
C.Lala Lajpat Rai D. SardarBaldev Singh

86. TSI BaY” T 3uTfe fasdt & 7€ 2t

A. UTSild g B. WTTd g

C. ATAT TSI I D. I¥eR daied fOg



87. Gas used as a disinfectant in drinking water is

A.Hydrogen B.Oxygen
C.Fluorine D.Chlorine
87. U & UTHT H BICTUMATIb &b BT H SIAHTA bl ST dTeil 19 2
A. ETSgISH B. 3RS
C. TARM D. TR
88. Which word does NOT belong with the others?
A. inch B. ounce
C. centimeter D. yard
88. I AT M6 GIRT &b AT HA &l @raT?
A5 B. 3|
C. ¥R D. ars
89. Which word does NOT belong with the others?
A. branch B. dirt
C. Leaf D. root
89. I T 2rec GHRI b HIY Hel el Wdl?
A. 2mgEr B. T
C. Tt D. T8

90. Which word does NOT belong with the others?

A. couch B. rug
C. table D. chair
90. I T 2% GHRI & AT Hel A&l @IdT?
A. T B. TTaitam

C. usl D. BT

91.The term “workflow” in office procedures refers to:
A) The layout of office furniture B) The sequence of tasks and processes
C) The office hierarchy chart D) The office networking infrastructure

91. BT UihAT3N H "ThuAl" 2eg T 31 &:
A) BRI BrTaR BT @373 B) BT 31 TiehAT3Tl BT BH
C) BrafeTd YSTIshH T1e D) ®RITeT AedfdsT 3aa]




92. The process of receiving and sending official communications within an
organization is known as:

A) Networking B) Collaboration

C) Correspondence D) Coordination

92. {3t TTeT & HidR fUdhIRe TR T &3 3R Yo B Withar &l 59 B9
T STET SITdT &:

A) qeafdT B) |

C) TR D) 9799

93. Who chaired the 7th Central Pay Commission?
A) Justice A.K. Mathur B) Justice B.N. Srikrishna
C) Justice R.M. Lodha D) Justice G.P. Singh

93. 7d el dd AN T 3TeTefdT fbda 12

A) TIHfd Q.. AR B) =TI &Y. q. SfigpeoT
C) <IRIHfd 3TR.TH. AleT D) (St fag

94.Who has the authority to curtail the training period of non-gazetted
categories?

A. The General Manager B. Divisional Railway Manager

C. The Training Incharge D. None of the above

94. TRITSTA>d AfOTAT T Tfl&roT 3rafel  Beldl P b 3fHBR fhdds Ui 82
A. AETIEY® B. Hsd1 ¥ Yatih

C. gfeleror yRt D. 3R H J BIS el

95.Which case led to the inclusion of sexual harassment in conduct rules as
Rule 3C?

A. Indira Sawaney B. Vishaka vs. State of Rajasthan

C. Shabano’s case D. None of the above

95. fo-g ATl & BRUT 3TRT (H3H] § A9 3ciis &f a9 39T & B9 | mfid
IERIRIEIN

A. s gTaT B. faem&@T g1 ST 3159

C. 2T BT HIHAT D. 3RIad | F BIs a1

96.When are the two dates for granting increments?
A. 1st April and Ist October B. 1st May and 1st November
C. Ist January and 1st July D. Ist February and 1st August



96. A gl T B3 by & faferar e &2

A. 1 379 3R 1 37N B. | #S 3R 1 qdR
C. 1 SHaRt 3R 1 Selr8 D. 1 BaRt 3R 1 37
97. Which of these is not a type of Leave ?

A.CL B. CCL
C.CTG D. LHAP

97. 3TH ¥ B BE! BT UBR &l 82

A.CL B. CCL
C.CTG D. LHAP

98. In which year was the RTI Act passed in India?

A) 1999 B) 2002

C) 2005 D) 2010

98. WRd H RTI 31fefaH foba af uria fesar mam &
A) 1999 B) 2002

C) 2005 D) 2010

99. Paternity Leave can be availed within ?

A) 1 month B) 2 months

C) 1 year D) 6 months
99. figca 3raarel fbd- TR & WiaR fordm ST Tasar 82
A) 1 HEHI B) 2 HegH

C) 1 9Tt D) 6 HgH

100. What is the lower age limit for CGA normally?
A. 18 years B. 25 years

C. 20 years D. 21 years

100. CGA & Toq ATHT=IA: =IAdH 317 HHT 97 22

A. 18 9% B.25dY
C.20dY D.21dY
RAJBHASHA
101: IS B ST Al GRT ISTHTST b hd UTRA T TaT 217
A. 18 ST 1968 B. 20 S 1968

C. 18 STeRT 1970 D. 20 SHa3T 1968



102. IrUfd gRT U 3772l fea) ® e STRT fhar T o2
A. 29 HS 1952 B.24 HS 1952
C.25Hs5 1952 D. 27 HS 1952

103. ITSTHTYT 3R bl fwIREN IR fauR &3 & foiw wfsa afafa & ger sreer
P 2

A& ISig TETE B. &t Mfde Agdr

C. &t Mfde gey ud D. & doetM WTS Ued
104. T Y 37l A= & ot ot HToTT orfiet &2
A. 22 B. 18

C.23 D. 35

105. Tt # iddl/TeTel HUE Y¥dh o1& g DIT-HT JREBR IS RIT(Ud bl TS
87

A HfeeiT2RUT o IR B. UHTIE THEhR

C. AT 8IS Mt D. g0 & B Tal

106. T BT ISTHIT BT feel § B & [T a1 F BrIhH B IR BT 82
A. faq ¥3maa B.TTE HaTqdad

C.3d HAToTT IACIPREIGE]

107. g HATCT & Tl ISTHTST feHTTT ST TATYAT e 52

A. 1947 B. 1955
C. 1967 D. 1975
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